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(1)22°+6x: i (1)
(2)-24m’x’ +16n°x" s (2)-8x";
(3)5(a-b)’+10(a-b). (3)5(a=b).
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(1)5x'y+150°y" 5 (2) 30"y +120y2- 9y
(3) (3m+2n) (2m-n)-n(2m-n).
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-b);@(a-b)"=(b-a)*;B)(b-a)’=~(a-b)".
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Aa(at+2)  B.a(a-2)
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Ax’-y B.x’-2x
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A2at+4=2(a+2)

B.am=bm+m=m(a-b)

Cox(a—y) +y(x-y)= (95‘9”)2
D.a’~a-6=a(a-1)=-6
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3a’-2lab= .
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2-T BTHIBRRERIH: 8. (1) Fl=20(2-1);
(1)4x"-2x: (2) R =a"x"y(axy+5) s
(2)a’x’y' +5a'x"y; (3) R =-(8x"y +4x’y-2xy) =

(3)-8x’y —du’y+2uy; =2y (day+2x-1) ;

(4)2m(a-b)-3m(a-b)". ()R =m(a-b)[2-
3(a-b)]=m(a-b)(2-
3a+3b).
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(1)-10m’n*+8m*n-2m’n;

(2)ab(a-2)"-a(2-a):

(3)5m(y-x)"-10(x-y)’;
(4)(2m+n) (2m=3n)+8m(-n-2m).



(4) B3 = (2m+n) (2m=3n)-8m(2m+n)
= (2m+n) (2m-3n-8m)
= (2m#n) (~6m=3n) £A2 84

==3(2m+ n)(ngn)ﬁJMﬂ : i

= =3(2m+n)". BOHE
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